8" SUDOKU MOCK TEST

SUNDAY, 25. JANUARY
14.30 — 15.58 IST (GMT + 5.30)

LIST OF THE PUZZLES

CLASSIC SUDOKU (4)
CONSECUTIVE SUDOKU (8)
FRAME SUDOKU (7)
SUDOKU 100 (7)
RUSTIC SUDOKU (10)
SUM AROUND SUDOKU (10)
3M SUDOKU (5)
SUDOKU PRODUCT (6)
SUDOKU EXTRA-REGIONS (8)
SUDOKU FISH BONE (6)
SUDOKU DIFFERENCE (9)
CALCULOKU (8)
Total: 88 points

Time for solving: 88 minutes

Puzzle author: Nikola Zivanovic




1. CLASSIC SUDOKU (4)
Fill in the grid so that every row, column and 3x3 box contains all different digits
from1to 9.

example:
1
57 94 solution:
4|1 6|3
sl7]6]3]1]4[9]2]5
9 2 6 312(5(7(6/9(4]1]8
51612 71419 ol4[1]5(8l2|6(3]7
719l8lal2]5[3]6]1
1 9 8 5(e2]sl3l1]7]4]9
8|4 215 411]3]6]o]7]5]8]2
711 6|8 118lal9]7]3]2]5]6
5 215(7|1]4]6|8]9]3
6/3(9|2|5[8[1]7]4

2. CONSECUTIVE SUDOKU (8)

Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. All neighbouring cells with consecutive digits have a border in
between.

example:

I solution:
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3. FRAME SUDOKU (7)

Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. Digits in the outside frame equal the sum of the three numbers of the
corresponding row or colum in the contiguos box.

example:
2 10 13 11 11 23 12 16 17 _
solution:
14 3 18
12 15
92317487165
19 12 51116(7(2]9(4 8|3
16 21 874356129
19 9 6 215]9lal3[1]6]7]s
714l8]6l9[5|2]3]1
10 18 31611(2]8/7[5]9]4
6 19 11312974856
8 y 419586 l2]3]1]7
618|7|5[1[3]9]4]2
21 4 15

11 20 14 22 14 9 20 10 15

4. SUDOKU 100 (7)

Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. In each row number combinations in the gray cells will give you
exactly a sum 100.

example:
solution:

6 4 8
6121114179835
1 51871213 (6|411]9
9 3191415/8|1|6]2 |7
7135191412 |6|8
9 2 4 olel8|3]2[5[1]7]4
7 411(2|8(6[7]5[9]3
1 815/3|1119(2|7/4]6
117(9]16(4[8]3(5]|2
2416175131981

6 3 1




5. RUSTIC SUDOKU (10)

Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. Each number combination in the gray squares (from left to right and
from top to bottom) is a prime number and each has exactly two distinct divisors: 1

and itself.
example:
/ 1 4
5
9
4 1
9
6 8
9
6 8 2

solution:
713[11214(5]16/8]9
912613 |1[8|5(4]|7
418(5]19|6|711(2|3
2(113|7|5(4]9|68
6(4/8(119(2]|3|7|5
51719183 (6]4|1]2
1151216|7|3|8[9 |4
819|452 (1|7|3]|6
31674189251

6. SUM AROUND SUDOKU (10)

Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. Numbers in the gray cells shows the sum of the orthogonally

neighbouring cells.

solution:

I NSO ([N|w]joo | o1~

0P~ NO[W

W O|NJoo |~

glN|o|lr|mlo|N w| o
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example:
3 9
3 8
4
3|1
5
6
3
2 / 1
5




7.3M SUDOKU (MINI, MULTI, MATH) (5)
Fill in the grid so that every row, column and 2x3 box contains all different digits
from 1 to 6. The sums of the numbers on both main diagonals must be equal.

example:

3 2 solution:
4 2 2141113|5|6
3 3(6|5[1[2]4
1 4/5(312/6]1
112161543

6 5 6111214 |3|5]|6(1(2

3 5 5131416121453

1 3121115146

516141231

5 6 2153164

3 1]4]6]3]2]5

8. SUDOKU PRODUCT (6)
Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. Numbers outside the grih shows the product of digits in marked cells.

example:

x « « | 6 solution:

* = | = | 160

NP 2O W|N|J00 | |©
AO|N|~|O|WIN|OOT

DWWl |O01 N
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108 80 12 14 27 5 24



9. SUDOKU EXTRA-REGIONS (8)
Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. All extra-regions must contain each the digits 1 through 9.

example:
1 &) 5 solution:
8 11216349578
9 2 4 3 713746859 ]2]1
slelol7]2l1]4]6]3
S 2 35719l 1]8[2]4]6
8 2161257389
3 slol2lalal6l7]1]5
21113[8]9]4|6]5]7
9|4 0 6l4/5[1]7]3]8]9]2
6 1 2 9l718|5l6|2[1]3]4
14

10. SUDOKU FISH BONE (6)
Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. All marked diagonals must contains all different digits.

example:
9 2 5
5 89 1 2 solution:
6 319(7(4/2/8]6]|5]1
3 5/4(8[9/6|1]7(3]2
216[1(5(7/3]9|4]8
9 68 412 3 418(5(713]2[116]9
1 9/1(6([8|5|4]2]7]3
1 712(3[6/1/9]4|8]5
6/3/4(2(9|5|8|1]|7
1 3 6|5 4 11719386524
5 4\9 815(2|1|4]7]13/9|6




11. SUDOKU DIFFERENCE (9)

Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. Numbers outside the grid shows the differences between first and last
digit in row or column.

example:

551367212

2 ¥ solution:

4 3 9 4 8

217 6 6lols[s5]3][1]7]2]4
503297 4l6]8]1

3 0 9 711486 ]2]3]5]9

5 9 2 1 41513189267

3 3 9 sl7]9lel2]5[1]4]3
2161347895

1 1 2 3lg]5[a[1]6[0]7]2

1 2 14 3 1 ol216]7[5]3[4]1]8

5 7 1147298536

12. CALCULOKU (8)

Fill in the grid so that every row, column and 3x3 box contains all different digits
from 1 to 9. There is a calculation in the gray cells. Last combination is the sum of
the all previous combinations in gray cells.

example:
3 2 9 solution:

3 114
5 5 7]1]6]3]4[2]8]5]9
i 9l 5] 4 etsl e totsts
415/8|1]6|9]7|2]3
5 7 5 2 112]3]6[9[8[5[7]4
9 5 2 + 8 6[8[4]7]8]5]9]1]2
RBENBE o7 sl4l2l1]3]6]8
319/1(2|5/6[4(8|7
4192 9 5/4/2|8|7]3[6]9]1
5 5 1 8/6(7]9(1]4[2]3]5




